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I. Fill in the blanks: (272)

1. When you select a picture an additional tab called the

tab appears on the ribbon.

2.A is a page containing a grid of cells made up of rows &
columns.
3. The command in the cells group on the Home tab has the

options to change row height & column width.

4. A is a collection of one or more related web pages,

linked together through a system of hyperlinks.

5. A is a small USB device that allows you to access the

internet through a mobile broad band connection.

II. Write T for true statement & F for the false one: (272)

1. The way one slide follows the other on the screen is called an animation ( )

2. The type of data that can be entered in excel 2013 are numbers, text &
formulas ( )

3. You cannot change the row height or the column width manually ( )

4. You should use all caps in your mails or online messages ( )

5. The interest is a huge network of computers around the world ( )

III. Answer the following questions: (any 5). (10)

1. What does animation mean? What are the four animation effects group

available in PowerPoint?




2. How will you create a new worksheet?

3. What is the difference between copying & moving a cell range?

4. Give any two uses of the Internet.

5. Define Netiquette. Mention any two points you need to keep in while on the

Internet.

6. What is the difference between the Name box & the Formula Bar?

IV. Who am I? (272)

1. I am the special effect that appears when you move from one slide to the

next :

2.1 am a useful spreadsheet program :

3. I am the intersection between a row & column:




4. 1 am a device that allows a computer to connect & communicate with other

Computers:

5. I am a message sent via Internet:

V. Observed the figure given below & answer the questions that follow. (5)
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i. Name the cell range selected in the given worksheet.

ii. Name the bar where the value of the first cell of the range appears.

iii. How many worksheets are there in a blank workbook by default?

iv. How can you get more sheets?

v. How will you select Column D?

vi. Label any five parts in excel window.

a.




VI. Identify the following Icons: (any 5) (2%2)

1. B | -
2. All-
3 41 -
4 =
5. 23 -
6. ¥l
VII. Word search: (any 5) (272)
F H E S A U R U I
O A F I L E Y X N
R L A Y O U T S S
M \Y% S C O L O R E
U E \% D A T A E R
L S I L E M A R T
A E R T I C A L M
S P H O M E N G E
VIII. Expand the following: (any 5) (272)
1. OMPURETC -

2. NMAIAONTI

3. OOKBWROK

4. NETPRAA

5. TRNIENTE

6. ORFATM
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SECTION - A
(1X4=4)
1. Find the profit or loss , when C.P = Rs. 2220 and S. P = Rs. 1778.

2. Find the difference between 500 m and 428m 50cm

3. Find the perimeter for the given diagram:

5m
9m
4m
6m
8m

4. Name the triangles according to its sides and angles.
(i) AB=7cm ,BC= 6cm, CA=8cm
(i) zA = 1250, 2B=300 , C= 250




SECTION - B (2x6=
12)

1. Convert 9% into decimal form.

2. A) Find 16 % Of 50. B) 9 % of Rs. 300

3. Divide and find the quotient: 88 =+ 3 %

4. Find the volume of a cuboid whose dimensions are
length = 4.3cm , breadth = 3.5cm and height = 3cm

5. Convert the following :
(a) 6 kg 325ginto g (b) 6350ml into litres

6. Subtract 7 hours 40 minutes from 13 hours 20 minutes.



SECTION -C

(3 x 10 = 30)

1. A bookfair began on 26th December . It lasted for 18 days . When will be

the
last day of the fair ?

2 .By what number should 43. 786 to be increased to get 50 ?

3. Draw a pictograph representing the data given below :

Years

2005

2006

2007

2008

Number of cars sold by a company

1000

1500

2000

2500




4. Find the profit or loss incurred by a company when it sold 10 article for
Rs, 15,000 which was bought by them at the rate of Rs. 1900 per article.

5. Find the product of 24% and 7% and divide it by 11. Give your answer in
mixed fractions.

6. Find the cost of fencing a rectangular park of 115m long and 85 m broad at
the rate of Rs. 15 per metre?

7. The cost of 1 penis Rs. 3. 50 .
(i) What will be the cost of 57 such pens ?
(i) How many pens can be brought for Rs. 70 ?



8. Find the area for the following figures by counting the number of square

/ / i
@) (i) (i)
(i) Area = (ii) Area =
(iii) Area =

9. The cost of 120 copies of notebook is Rs . 480. Find the cost of 80 such
copies
of notebooks?

10. Find (i) — of an hour (i) — of 39 (iii) > of 1km



SECTION -D (4 x 11 = 44)
1. One litre of medicine is to be packed in small bottles , each one of them can
hold
125ml of medicines. How many such bottles are needed?

2.(a) Ravi read %4 of a book of 120 pages . How many pages did he read in all
?

(b) Convert 7 m 2dm into cm

3. (a) Arrange the following decimals in descending order :
8.07, 8.707, 80.7, 87.7, 80.007, 8.7

(b) Simplify : 113.42 + 37.9 - 183

4. The total capacity of a water tank is 3000 litres. If it is filled with 1536 litre
50ml of water. Find the volume of water required to fill the tank?



S. (i) Complete the following diagram in the given grid .

.-'"

4|

- ‘_h. - |

I -\-.-\--.-\- [ i

S N I " I | !
|

|

(ii) Sachin drives 210km in 4 hours at a uniform speed. How much does he
drive per hour ?

6. A boy takes l1hour 35 minutes to solve a Maths paper and l1hour 45minutes
to

solve a science paper. How much total time does he takes to solve both
Maths

and Science Paper?

7. The cost price of a washing machine is Rs . 7500 . He spent Rs. 500 for
transportation and sold the same for Rs. 10,000 .Find the gain or loss
percent?



8. Convert (i) 8 days into hours (i) 365 days into week and days

(iii) 300°C into Faherienheit Scale (iv) 450 F into celscius scale.

9. Draw the lines of symmetry in the following figures. Write the number
of lines of symmetry in the figures.

-

B S ol

10. Andy had Rs . 10000. He used 25% to buy food and 50% to pay the rent.

The
rest he saved. How much money did he spent for food , rent and how much

money did he save ?

11. Read the Bar graph and answer the following questions:
Trees Planted in Year 2001

sl

40 - .
30 — -
20

'
]

Hundes of Trees
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https://www.google.co.in/imgres?imgurl=http://www.mytestbook.com/images/Grade5/Math/232_2275_gr5wk18pic1.gif&imgrefurl=http://www.mytestbook.com/worksheet.aspx?topics=Bar Chart&subject=Math&grade=5&test=232&h=257&w=365&tbnid=hp0l8pN9kZaghM:&docid=wq_zeE4MdnIIqM&ei=x6uwVvnQBMK7mwXeo4GYAQ&tbm=isch&ved=0ahUKEwi50PnIlNnKAhXC3aYKHd5RABMQMwhTKC0wLQ
https://www.google.co.in/imgres?imgurl=http://www.mytestbook.com/images/Grade5/Math/232_2275_gr5wk18pic1.gif&imgrefurl=http://www.mytestbook.com/worksheet.aspx?topics=Bar Chart&subject=Math&grade=5&test=232&h=257&w=365&tbnid=hp0l8pN9kZaghM:&docid=wq_zeE4MdnIIqM&ei=x6uwVvnQBMK7mwXeo4GYAQ&tbm=isch&ved=0ahUKEwi50PnIlNnKAhXC3aYKHd5RABMQMwhTKC0wLQ
https://www.google.co.in/imgres?imgurl=http://www.mytestbook.com/images/Grade5/Math/232_2275_gr5wk18pic1.gif&imgrefurl=http://www.mytestbook.com/worksheet.aspx?topics=Bar Chart&subject=Math&grade=5&test=232&h=257&w=365&tbnid=hp0l8pN9kZaghM:&docid=wq_zeE4MdnIIqM&ei=x6uwVvnQBMK7mwXeo4GYAQ&tbm=isch&ved=0ahUKEwi50PnIlNnKAhXC3aYKHd5RABMQMwhTKC0wLQ
https://www.google.co.in/imgres?imgurl=http://www.mytestbook.com/images/Grade5/Math/232_2275_gr5wk18pic1.gif&imgrefurl=http://www.mytestbook.com/worksheet.aspx?topics=Bar Chart&subject=Math&grade=5&test=232&h=257&w=365&tbnid=hp0l8pN9kZaghM:&docid=wq_zeE4MdnIIqM&ei=x6uwVvnQBMK7mwXeo4GYAQ&tbm=isch&ved=0ahUKEwi50PnIlNnKAhXC3aYKHd5RABMQMwhTKC0wLQ
https://www.google.co.in/imgres?imgurl=http://www.mytestbook.com/images/Grade5/Math/232_2275_gr5wk18pic1.gif&imgrefurl=http://www.mytestbook.com/worksheet.aspx?topics=Bar Chart&subject=Math&grade=5&test=232&h=257&w=365&tbnid=hp0l8pN9kZaghM:&docid=wq_zeE4MdnIIqM&ei=x6uwVvnQBMK7mwXeo4GYAQ&tbm=isch&ved=0ahUKEwi50PnIlNnKAhXC3aYKHd5RABMQMwhTKC0wLQ

(i) What information does this bar graph represents?

(ii) Write the names of all the trees planted according to ascending order.

(iii) How many type of trees were planted more than 50. Name them.

(iv) How many total number of trees planted in all.
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I. Choose the correct answer: (8x1=8)
1. Steppes are found in:

(a) Afghanistan (b) Bangladesh (c) Pakistan (d) Russia

2. The official religion of Saudi Arabia:
(a) Islam (b) Buddhism (c) Christianity (d) Hinduism

3. The United Nations was formed in the year:
(a) 1954 (b) 1945 (c) 1549 (d) 1459

4. Country that followed the Apartheid Policy:
@ USA (b) South America (c) South Africa (d) Denmark

5. Jallianwala Bagh is at:
(a) Hyderabad (b) Amritsar (c) Ahmedabad (d) Kolkata

6. Love and pride in one’s own country is referred to as.
(a)Criticism (b) Socialism (c) Nationalism (d) Secularism

7. Not to do or buy any of the foreign goods to show protest is

(a) Boycott (b) Strike (c) Bundh (d) Procession
8. The Indian National Army was formed by:
(a) Maulana Abul Kalam Azad (b) Mohammad Ali
(c) Liquat Ali (d) Subhash Chandra Bose
II. (a) Anology :- (3x1=3)
1. Women : Abaya :: Men:
2. Jedda: :: New York: USA.
3. Savannas : Central Africa :: :South Africa.
(b) Trace the events. (3x1=3)
(a) 1910
(c) 1942

(d) 1914




(c) Expand the following: (3x1=3)
1. ILO

2. FAO

3. UNESCO

III. Explain the terms :- (5x1=5)
1. The Charter of the UN

2. Charity

3. Grassland

4. Ranch

5. Veto Power

IV. Answer the following :- (8%2=16)

1. Who are Bedouins? What is their occupation?

2. Describe the climate and vegetation of the prairies.

3. What is Sathyagraha? Name the person who used this method to bring



equality in the USA.

4. Give reasons:

(a) The Western part of the prairies are not suitable for agriculture.

(b) Where are the Pampas found?

5. Define:

(a)Sand Dune

(b) Oasis:

6. What are the functions of the Security Council? List four permanent

members.

7. How did the Revolutionaries fight against the British? Name two

Revolutionaries.

8. What did Gandhiji rename untouchables as? Why?

V. Answer the following :- (8x3=24)

1. Explain in brief about India’s contributions to the United Nations. (Any 3)




2. (a)Why was the Indian National Congress formed?

(b) Name a moderate and an extremist.

3. (@) Which social evil practices kept the Indian society backward?

(b) Mention two Social Reformers.

4. (a) Who is the present Secretary General of the UN ?
(b) List any two aims of the UN.

S.(a) How were the blacks treated in USA ?
(b) What is “March on Washington” ?




6. (a) Saudi Arabia is a rich country . How?

(b)What made Saudi Arabia an important pilgrim centre for muslims?

7.(a)Why is the Prairies region called as the “Wheat Basket of the World”?

(b) The population in the prairies region is thin.Give reason

8. (a) Write a short note on the Civil Disobedience movement.

VI. Answer briefly :- (4x5=20)

1. (a) Describe the non-cooperation movement.

(b)Why did Gandhiji call off the movement?



2.(a) Why was Bengal partitioned ?

(b)What does ‘Swadeshi’ mean ? What was the movement about?

3. Identify the following and explain their functions (2 each).

(2)

L .
- (a) Identify the person:

)
(b) Where was he born?
~ments (Any Three)




VII. Think and Answer :- (2)
1. Which Indian personality do you admire regarding the contribution

towards the nation? Why?

VIII. Mark the Following on the map given. (6)
1.Red Sea 2.Persian Gulf 3.Riyadh 4.Iraq 5.0Oman 6.Jordan
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SECTION A

Choose the correct option: | I1X8=8
1. The cardiac muscle is present in the
a. lungs b. stomach c. heart d. brain.

2. It has been found that humans have the biggest cerebrum amongst all

animals. This is because humans
a. think the most b. move the most.
¢. breathe the most d. all of the above.
3. Which of these instruments closely resemble a part in our ear?
a. Tabla D. Jal tarang c¢. Veena d. Flute.
4. Which is the sense organ that detects spice?
a. Tongue b. Ear c. SKkin d. Nose.

5. Which of these would prevent an electric shock?

L i. Bare feet il. Rubber soled shoes
iti. Canvas shoes iv. Plastic sandals
a. l and iii b. il and iv c.1and ii d. iii and iv

6. When a scale is used to open the lid of a tin, it becomes a
a. First class lever b. Second class lever
. Third class lever d. Can opener.

7. In which of these pictures will the fish survive?

a 0 C d

8. . On which of these days will a lunar eclipse take place?

a. Poornima b, Ekadashi ¢. Amavasya d. Dwadashi.
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d. Digestive system: stomach:: excretory system :
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b. Blood vessels: carry the blood:: : carry the messages

e R e e et .

from the brain.

C. Sewage: water pollution:: Garbage :

d.

: aftershock :: cyclone : tidal waves.

ll. Fill in the blanks:

1x4=4
a. When the volume of a substance Increases, its also
INcreases.
b. Use of

- energy does not produce any pollution.

lll. Give 2 examples for the following:

d. Renewable resources:

i T (.
A A o
e B

d. Nonliving things on which living things depend on:

b. Natural calamities:

C. Artificial satellites:

IV. Define the following:

1X5=5
d. Upthrust:

B .
e S

b. Food chain:




C. Ecology: __

d. First aid:

St e e SRR S e N e st e

e. Volume:
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V. Give reasons for the following: ~ - 1x5=5

a. Our backbone is flexible enough to allow us to bend and twist.

b. Water is not used to put out petrol fires.

c. Winding roads are built on ghat roads.

d. We see only one side of the moon.

e. Living near airports can be harmful to the ears.

2 mark questions.

l. Write what happens when the following happen and explain why: 2X3=6

a. A iron piece and wooden piece, both of the same weight, are put in

water.




Il. Write two differences between.: 2x3=6

3. Cardiac muscles and Biceps muscles.
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1. Write short notes on:

a. Global warming.

IV. Answer the following:

a. Answer the questions based on the following weather report.
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i. On which day is the maximum temperature the least?

ii. On which day is it going to be more humid?

lii. What is the minimum temperature on the 26'"?

iv. What is the report on the rain on /X ki
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b. Draw a neat labeled diagram of the human br

: R AN S R MR L A T M Y T B D LR R T L B A YA

c. Write the functions of the following parts of the human eye:

l. pupil

Ii. lens

1, r@emad il R

iv optic nerve ‘
Codipn o ISR A

i. Name the joint represented here.

ii. Where is it located in our body?
iii. N\ame the bones involved in this joint.
iv. What kind of movement does this joint allow?

e. What would happen if there were no decomposers in the environment?
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The person who remained in Apollo 1.

First man to land on moon.

First animal to go to space.
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. Answer the tollowing.
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picl | pic 2
i. What are A and B?

ii. What is happening in picture 1?

i What is happening in picture 2?

b. Which pért of the brain gives the command in the following cases?

i Ram wanted to pick the glass from the table to clean it before using.

i Rohit is learning to cycle.



1, r\lLl;ih.]\ heart started to beat fast as they started announcing the resy|

the COMmpetition.

C.o L What are fire extinguishers?
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1. What is the principle on which they work?
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1. What is the gas contained in them?
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l. Identify the simple machine in this picture.

1. Detine it.

iii. How is this picture related to the first picture?
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e Write in detail about 3 factors that do not favqr life on the moon.




I. What do you learn from the above picture?

ji. As a student how can you contribute to saving petrol?

b. Study the following pictures and write a note on what you understand from
R
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C. 1. Draw a labeled diagram of the solar eclipse.

. Why are they using the glasses?
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